ST UDY L ENTRE

ANCIENT INDIA
VEDIC, BUDDHISM, JAINISM
CLASS WORK SHEET II

1. The difference between the Sabha and the Samiti of the early Vedic age

was that:

a. The Sabha was a Smaller body of only elders and the Samiti was the
assembly of the people of Villages

b. The Sabha was a central assembly of only selected people and the
Samiti was the representative body of villages

c. The Sabha was the assembly of the village and the Samiti was the
political assembly of the central Government

d. None of these

a1 Gougkh HTEVHH60 STewILILIL L FuT WBEID FU8 euBpdBslen Cuiwime

Geoumur(?

a. FuT  eiLG LHSBHHHCHTT SILmSW FPw evey, g OuTg
LD H6IT DL BIBII FeMLI.

b. gur eeiiug CHTHOHBSHILULL o mlileisemen CETemHiL Slevel, FLO)
oleTLIGI &ITTID @ mILINeTTdenen OB TewIL Fl.

C. Ul eleiUg Sl &gmo o minfenT &genu, &FOFH 6l  WHHW  DIFlest
SITFWID FemLl.

d. Beaumniled g&HILbleLm6V

2. Match the following

Upaveda Contain

A. Ayur Veda 1. Training in fighting
B. Danur Veda 2. Architecture

C. Gandharva Veda 3. Medicine

D. Silpa Veda 4. The art of Music
QUT(HSHHIS:

® 1 Geusmld Slwal GNILILEm6

A. o TGausID 1. FewienL il LuIBd

B. saim Gougd
C. smpaian Gauspld
D. dleouBeugid

SLIQL S H6EM6V

LD SSHleLD
BN TF H&H6M6V

pal
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A B C D

a. 1 2 3 4

b. 3 1 2 4

c. 3 2 4 1

d 3 1 4 2
3. The Vedic deity Indra was the god of

a. Wind b. Rain c. Thunder d. Fire

Goumpamevd FL 6T DHBHTT HDHBTEMID 61H6T HL_6)61T?

a. s b. wemip C. ®g d. QmmLL
4.  What was the main occupation of Aryans?

a. Agriculture and cattle rearing d. Fishing

c. Trading d. Fishing and Trading

Sflwiteseler (WHeHluwl GGHTIH6L 6T6sT60r?

a. Geuenmemienid LOBMILD SHTEOHEML  GUGITLIL] b. eniiggse0
C. eumemiLILD

d. B8enligsHsHe0 WBBID euTewiLLD

5.  Who was the leader of Aryans?

a. Rajan b. Bhukti c. Vishayapati d.Senapati

oyflwiteeflen sHemeveul wmT?

a. [Jmegest b. ysa . alaguimig) d. Gzemmug)
6. Who were the officers helped the king in administration?

a. Mukaddam b. Senani and Purohit

c. Kotwal d. Bandagara

SIFWIHEG HITUTHHH60 2 FHalul DIVIIEVTH6T WITT?
a. (IPSHSBTLLD b. Ggemmel wmumid YGITHHT C. BHTeumed d. LMHBHBIT

7. Political Organizations of Vedic period ascending order
a. Grama, Rashtra, Kula, Vis, Jana
b. Jana, Grama, Rashtra, Kula, Vis
c. Kula, Grama, Vis, Jana, Rashtra

d. Vis, Grama, Jana, Kula, Rashtra

BoumpdMevHFHe0  HTewIlILl L HFFluied Hiteurs Siewoliilienet  gmieuflenguisd
HT601H

a. &I, JTedeIld, @6, alerd, ogeurT

b. @ert, &ymiod, FTARNQIID, GH60D, @ierd

C. (G06VLD, &IMOLD, &lerd, 6T, JTAJMQJTLD

d. aferd, Hymob, MeIT, G6VD, FTAQJLD
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10.

11.

12.

Who was the god of Sudras in later Vedic period?

a. Indra b. Rudra c. Varuna d. Pushan
LeTCoushaTe0HHe0 GFHHHTTHMN6 HL e WmT?
a. ®bAym b. mayT C. GU(THGIOTGHT d. yeger

The lady of the later Vedic age honoured by king Janaka?

a. Kargi b. Maithragi  c. Nivavari d. Lobamithra
Med LHTITTalemed Gdenyaldbsiiul L aiGagsmer GLewioeml wimt?
a. & b. ewwsGrul c. mMeureurfl d. Geomuipdym
The word vid from which Veda has been derived means

a. God b. Doctrine c. Knowledge d. Holy
Goumpld e1alG “@ld” elaiB OFTeLeV(HHEHI LIBHHEHI. DIH6T CUITHENT
a. &Lalel b. Qsmeiens c. aniey d. yefsbd

Who among the following popularized the theory of “Arctic Region”
as the original home of Aryana?
a. Keith b. Max Muller

c. B. G. Tilak d. Dayanand Saraswati

U9 LG&HCw SyfluiiTaer et LLTeissLD 61601 AES R 1ETIT
LFuevLIL(B & W6

a. Gaulg b. omédend(ipsdeviT

c. B.G. FHeovst d. swrenbsd Fyerdeud

Consider the following statements:

1. Vardhamn Mahavira’s mother was the daughter of Lichchhavi chief
Chetaka

2. Gautama Buddha’s mother was a princes from the Kosala dynasty

3. Parshvanatha, the twenty third Tirthankara

Which of the statements is /are correct?

a. 1 only b. 2 only c.2and 3 d.1,2and 3

BHIDHBTEVID FnBHIHNET SLTTUIS.

1. ed&Famalenw semi  CosHHamaler H6T auTHaHwoTer WwaTaiyfler  sHTul
LG

2. Bxmgev BTG Aemauyd QHenHID LGHHTer SHTul SLeuMT.

3. UTFUBTHT, 23aUH HTHBHBIG]T

GuoBaTamid FnBmIseiled Fhuimerenel 617

a. 1wl @B b. 2 ol (b c. 2 iopmb 3 d.1, 2 wBpid 3
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13.

14.

15.

Consider the following

Assertion (A) : The emphasis of Janism on non violence (ahimsa)
prevented agriculturalists from embracing Jainism
Reason (R) : Cultivation involved killing of insects and Pests

a. Both A and R are right R is the right explanation for A
b. Both A and R are right. But R is not the right explanation for A
c. Aisright Ris wrong

d. A is wrong and R is right
LesTeu(hld SmMBmIsenen LIS

GgBB : FWwewl FOWD eeluBISHL  DFbmF CFTeTnd  aleugTullsel
FLOGWI FOWSHMS HRMUSBS HOLUWITS SBHHSHS-
&I GUOTLD: © W16 LWiTeemensd  SHTHGD LY FFHemern AL DIQURIES

Luifp®»eded SILmIGLD.
a. (A) oppid (R) @gewio i (R) etetiugl (A) aiBg sflwren alendsd
b. (A) wspdb (R) @pemio &M Gwed (R) esiug (A) elbe aflwmen
A6 &HL06V6V
c. (A) sfl suemmed (R) soup)
d. (A) seoup spemmed (R) &l

The concept of eight fold path forms the theme of

a. Dipavamsa b. Divyavadana

c. Mahaparinirvan d. Dharma Chakra Pravastana

oTell QUL LOTTSHBID 6Tamid SglienL & CaT U@ 61He U1 UIGILITHENT.
a. SUaIDFID b. FHeiuwteugeund

C. warufipliTeuresrid d. s Fé&ar yeuedsiDd

Which of the following were common to both Buddhism and Jainism?
1. Avoidance of extremities of penance and enjoyment

2. Indifference to the authority of the Vedas

3. Denial of efficacy of rituals

4. Non-injury to animal life

a.1,2,3,4 b.2,3,and 4 c.1,3and 4 d.1and?2
BIDSHBTEILMABOIM6D  LSHDHIDHHMGD FL06wT LHHSHMEG CUTHIGUTET  c6dTm
o117

L 260 gipe wHpd sHESTSHE LB SeifiL

2. Gougmisefe oddHsd BT Sleol Fuid

3. FLEIGSMeIMe0 QUMD LIUITH6T BSHTeT LOBILIL

4. allevmiGHaHemen G&TeTeNTenLD

BeuBled

a. 1,234 b.2,3 wopd 4 c.1, 3 wppw 4 d.1 wBpw 2
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